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dj None of the adove

il

Pranab Kumar‘Mukherjee 76 was,declared elected

.. President of India on 22“‘1u|y 2012,
) ‘
d)13" 1

o

!

With which country does India share the longest

rder? !
~ Bangladesh b) China
Nepal d) Pakistan

Ir whlch police station was the FIR relating to the
assassination of Mahatma Gandhllreglstered?
| Parliament Street Police Stat|op_

Tuglag Road Palice Station
Daryaganj Police Station

nich modern India historian has descrtb«=d the

nts of 1857 as “neither first nor National nor
rof independence”? ‘
V.D. Savarkar

3] Dadabhai Naoraoji
) R.C. Majumbar

S.N. Sen

ering to 2011 census, which is}the second
nost populous state in India?

| Bihar

- West Bengal |
Maharashtra |
- Andhra Pradesh i

h country has provided huge grant to UNICEF.
sure India remains Polio Free?

b) Russia i

d) Japan

it 6 5.1 g s
v o=
b

‘hich place the 2014 Common Wealth Games
take place ‘
ing

i
b) Lendon |
asgow ;

d) Canada
ich British Governor-General introduced

slage stamp in India? |

ord Dalhousie b) Lord I;%ipon
ord Canning d) LordWiHiam
Bentick

|
=tnational Women's Day is obserVed on
January b) 8" March
“February d) 25" March
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i SECTION-I :
|
GENERAL KNOWL EDGE & CURRENT AFFAIRS

11.

12,

13.

14.

15.

16.

175

Where is Secretariat of SAARC located?
a) Colombo  b) islamabad
c}) New Delhi d) Kathmandu

Which of the following is not an organ of the
United Nations?

a) International Court of Justice

b) UNESCO

c) Trusteeship Council

d) Economic and Social Council

Who among the following has been the Chief
Justice of India and has acted as the President of
India?

a) Justice M. Hidayatullah

b) Justice S.V. Chandrachud

¢) Justice P. Shastri

d) Justice P.B. Gajendragacdkar

Which of the following is primarily a digital haok
reader?

a) Apple I-Pod

b) Sandisk Sansa

c) Amazon Kindle

d) Nokia N95

Which among the following storage media has
the maximum storage capacity?

a) Digital Video Disc (DVD)

b) Compact Disc (CD)

¢} Vinyl Record

d) Blu Ray Disc

The title of “Vikramaditya” was assumed by:
a) Chandragupta Il b} Kanishka
c) Samudragupta d) Harshavardhana

What is the Commonwealth Games, 2010 mascot
called?

a) Sheru
c) Cheetah

b} Shera
d) ligrr

What is the name of the weh browser developed
by Google Inc?

a) Chrome

b) Safari

c) Firefox

- d) Motzilla




i

ere would be zero degrees latitude and zero
s longitude located? |
Atlantic Ocean I
Szhara desert

North Pole

South Pole

£h partof human body is cor‘r{pletely devoid of
3d supply? ;

Arai b) Cornea ‘

d) Thyroid

2h country is estimated to have the third
=<t population in the world?
akistan b) Bangladesh
donesia  d) United States of America

h state is known as the Spice Garden of

b) Punjab
d) Uttar Pradesh

'- mu & Kashmir
erala

is a common name for:
ropanolol

Isalicylic Acid

mycin Sulfate

combination of all the ahove

= is the world's highest waterfall located?
nada &United States |
Eentina ‘
Lanka
=zuela

nent of Dengue fever may reguire:
atelet transfusion

Ministration of propanolol

of the above

rovided the earliest evidence of the Big
de| of the Universe?
nsiein
=g Hoyle
#in Hubble
fton

=lecom operator was the firgst to announce
ation (3G) telecom services in India?

Tl Airtel : ‘

ance Communications

Minfocomm
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28.

29,

3.

34

32,

33,

34.

35,

Which art movement was led by Pablo Picasso?
a) Cubism

b) Futurism

c) Fauvism

d) Impressionism

In which year was State of Israel admitted as
member of the United Nations:

a) 1950 -b) 1949

c) 1948 d) 1952

Which of the following office has never been
held by Prime Minister Manmohan singh?

a) Finance Minister

b) Governor, Reserve Bank of india

¢) Honorary Professor, Delhi School o
Econormics g

d) Member, Lok Sabha

What is the number of States in the Union of -
India?
a) 28
¢} 26

b) 32
d) 27

At the equator, the duration of the day.is ~
a) 16 hours b) 14 hours
c) 12hours  d) 10 hours

The first woman Chief Minister of a state —
a) Mayawati b) Jayalalita

c) Sucheta Kriplani

d) Sarojini Naidu

WTO wias formed in the Year
a) 1946 b) 1977
c) 1992 d) 1995

‘World Heritage Day' is celebrated on ‘
a) 8 April b) 18 April
c) 28 April d) 8 May

Who was the First Miss World from India?
a) Susmita Sen

b) Chanramukhi Bose

c) Reita Faria

d) Devika Rani *



SECTION-Il
English Language & Comprehension

15 36 to 40 are based on thé following passage:

Ju've been in love, of coursel If not, you've got it to come.
ough it. Also like the measles, we take it only once. One ne
2. The man who has had it can go into the most dangerou
i perfect safety. He can picnﬁc in shady woods, ramble thr
Watch the sunset. He fears a quiet country-house no maor
ily party to go down the Rhine. He can, to see the last o
Wriage ceremony itself. .....No, we néver sicken with love twice. Cupid spends no second arrow on the
e heart. Love's handmaidsfare our life-long friends. Respect, and admiration, and affection, our
'S may always be left open for, but their great celestial master, in his royal progress, pays but one visit
departs. We like, we cherish, we are very, very fond of-but we never love again. A man's heart is a
work that once in its time ﬂa:shes heavenward. Meteorlike, it blazes for a moment and lights with its
¢ the whole world beneath.Then the night of our sordid commonplace life closes in around it, anc
surned-out case, falling bacf:ito earth, lies useless and uncared for, slowly smoldering into ashes”.

Love is like the measles: we all have to go
ver need be afraid of catching it a second
s places and play the most foolhardy tricks
ough leafy aisles, and linger on mossy seats
e than he would his own club, He can join a
f a friend, venture into the very jaws of the

|
€ opinion of the author, love is like measles

jise:

c) Having lighted up once, it is of no further use.

: | d) All of the above :
th one of us has to go througfi} it.

1appens only once in life.
“mazkes a person reckless

s painful. ; :
h of the above are correct? 41.

Directions: (Question Nos. 41 to 51) Choose the
Correct option to fill the blanks.

Hike to watch ..........o....o.. play badminton in my
2)a, bandd garden.
Bl a, b and ¢ a) them b) they
aandd c) she d) he
@) All of them are correct
; 42." She practised hard ................. she could perform
Witing style of the author may be described well.
i o) iRless b} hence
pantic b) Melodramatic ¢) so that d) for
d) Somber
A3 ARl e In Delhi yesterday?
= the word having the same meaning as a) you were doing b} did you do
e c) you did d) did you
it b) Tumble
nble d) Rally | 44.  She asked me how big ...

a) in your apartment
b) my apartment was
c) was my apartment
d) in my apartment

according to the author, are ﬁhe emations
ompany love? ‘

ration and affection.

and fearlessness.

45. Exceeding speed limit and ... safety
belts are two common causes of automaobile
deaths.

of the following ways is a man's heart a) not to wear
cribed as being similar to a firework: b) don't wear

work lights up the sky. i

c) not having worn
work flashes only momenta'{ily and falls

d) failing to wear
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IS his face.

55,
.. M.B.B.S. doctor is quali‘fied to practice
b)The : 56.
d) Every
led me how big .veeenveninn,
Wour apartment 57
I apartment was
25 my apartment
apartment
i .. of his own intélligence that
not entertain any suggestian from others
anted
58.
moured
= about te move his bike into the compound
sartment when a passershy ............. down 50,
forbike.
s b) fell
d) climbed
: 60.
curity of the minister has been ............. up
£anattack at a public meeting.
ed b) Bloated
- d) Beefed 611
( Question Nos. 52 to 54): In each of the
%2 questions, out of the given alternatives, 62.
the one which best expresses the meaning
nword
63,
muate  b) Insingnificant
S d) Meaingless
ent  b) Elegant
ling d) Stylish
64,
b) Cover
d) Achieve
65.

Directions ( Question Nos. 55 to 57) : In each of the
following questions, find out the best alternatives
forthe given words/sentences

The act of killing one's wife
a) Avicide b) Uxoricide
¢} Genocide d) Canicide

To hbld something in leash
a) To restrain
c) To disappoint

b) To discourage
d) To dismiss

A short usually amusing story about some real
person/event
a) Anecdote
c) Tale

b) Allegory
d) Antidote

Directions{ Question Nos. 58 to 63): Each of the
following questions contains four words. One of
the four words is correctly spalled Pick the
correctly spelled word:

a) Haggard b) Hagle

c) Hallmark d) Hampar
a) Bonny b) Boaste

¢) Bounc d) Bridl

a) Benidiction b) Solicitude

c) Psycophancy d) Intution

a) Intelligent b) Inteligent
¢} Intteligent d) Intalligent
a) Univarsity b) University
c) Unniversity d) Unnivercity
a) Aplicable b) Apllicablle
c} Appllicable d) Applicable

Directions{ Question Nos. 64 to 67): In the
following questions a word is given followed by
four options. Pick the word having the opposite
meaningto the given.

Passionate
a) Dispassionate
c) Unpassionate

b) Non-passionate
d) None of the ahove

Interesting
a) Intrepid b) Inundate
c) Inured d) Irksome
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cable : 71.
elevant b) Deleterious
parable d} Inundate
sthesize ‘
i b) Conjecture
=fute d) Speculate 79
actions( Question Nos. 68 to _72_): Replace the
'edpartwithcorrectversionf

waosing if he fails again, wiil beable to hold his
i high? j

Wwopose he fails : : :
uppose if he fails !

upposing he will fail !

W0 correction ;

{ 73,
&y will come if you will invite them
Would invite
vite
74,

look you up next time | am in Bombay
Look you through 75.
.« ok you aver
ok you around
correction

When you left that joh?
a) Did you leave
b) Would you left
c) You have left
d) No correction
= ;
Every man and woman in the village was present
at the festjval
a) Are
b) Were
c) Have
d) No improvement

Directions( Question Nos. 73 to 75): In the
following questions. Choose the option which is
dissimilar from the other three options

a) Good b} Nice

c) Wonderful d) Bad

a) Door b) College
c) Table d) Window
a) Rice b} Grape

c) Apple d) Mango
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‘.. is NOT a Central Government tax.
income tax

{raffic related aspects of international ports
Te hnology related aspects of intellecual
property rights

‘rade related aspects of intellectual property
rights ;

‘fade related aspects of industrial property
fights 1

}is the successor of;
~ b) IMF

d) GATT g

M is protected under .......... act

flade marks b) Patents

Bpyright d) Cinematograph

o education is added as article 21A in the
Siution of India by

5 Constitution Amendment, 2002

2 Constitution Amendment, 2003

" Constitution Amendment, 2003

0" Constitution Amendment, 2003

okpal Bill had been introduced in the
ment of India in the year:

b) 1964

d) 1968

2nal Emergencyin India remains in operation
‘= approval of the Parliament for:
iimum of 1 year

7

-enstitutional requirement the Parliament
shall meet at least:

= 3 year b) Twice a year

e a year d) Fourtime aysar

84.

85.

86.

87.

88.

89.

90.

SECTION-III
Legal Aptitude & Legal Awareness

Permission to vote in India by postal ballot is given
to:
1) !\/ig\.mbers of the Armed Forces: ;
' 2) Foreign Service personnel posted abroad
3) Officials on election duty
4) Candidates who are touring their
constituencies
2,4 b)
1,2, 3 d)

a}
c}
To be tried under Juvenile Justice ( Care and
Protection ) Act, 2000 the accused muist be below
the age of:

a) 18 b) 16

c) 14 d) 12

Under which provision of the Constitution, the
Supreme Court reviews its own judgments?

a) Article 132 b) Article 137

¢) Article 139 d) Article 141

The Headquarters of the International Court of
justice is situated at

a) Geneva b) Vienna

c) Rome d) The Hague

Sachar Committee Report Refers to

a) Reservation for minorities

b) Backwardness among the Muslim community
c) Judicial reform

d) Election reform

Who said that democracy is a “government of the
people, by the people and for the people”?

a) Abraham Lincoln

b) Woodrow Wilson

c) Aristotle

d) Plato

In India, right to vote is
a) Fundamental right
b) Statutory right

c) Constitutional right
d) Moral right
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MEa became a member of the UNO in the year
a) 1950 b) 1945

) 1947 d) 1948

What is the minimum age to be appointed as a
governor of a State in India?
a) 25vyears b) 35 vyears
) 21 years d} 18 years

The phrase ‘de facto' means
a) allthe facts b) all the facts and figuras
c) bonafide d) forall practical purposes

A marriage between a boy of below 21 years of
age and a girl of below 18 years of age is

a) void b) Valid

c) Voidahle d) Irregular

In which of the following countries, an effort was
made to ban a translated version of Bhagavad
Gita?

a) France
c) China

b) Philippines
d) Russia

A male Hindu marrying a second wife whiie the
first marriage is subsisting, commits:

a) an offence of bigamy

b) no offence

£} no offence if the permission of the first wife
was taken in writing

4} no offence if the first wife chooses not to file a
case against him

A marriage amongst minors is considered to be
legally:

- a) Invalid
€} Voidable

b} Void ab initio
- d) Valid

 Which of the following States is a permanent
“member of the Security Council?

3} France b} Germany

d) South Korea

Bw many Schedules are there in the Constitution
India?
7 b) 8
dy 12

il hﬂv wants to marry a Muslim girl. They
alemnize their marriage under the:

cial Marriage Act

mdu Marriage Act

c) Muslim Lawr
d} Any of these

101. Slander is of:
a) Permanent form
b} *Transient form
c) Strict form
d) None of these

102. Dishorour of a cheque is an offence under:
a) Section 138 of the Negotiable Instruments Act
b) Section 420 of the India penal Code
¢) Section 73 of the Contract Act
d) Section 41 of the Code of Criminal Procedure

103. Which of the following is not an Alternate Dispute
Redressal Machanism ?
a) Mediation
b) Lok Adalat
c) Arbitration
d) Plea Bargaining

104. Under which Article of the Constitution of India is

the law laid down by Supreme Court binding on
all courts?

a) Article 32
b) Article 141
c) Article 226
d) Article 124

105. Driving without a valid “Pollution Under Control
Certificate” is punishable under the provisions of:
a) The Motor Vehicles Act, 1988
b} The Air (Prevention and Control of Pollution)
Act, 1981
c} The Environment (Protection) Act, 1986
d) The Public Liability Insurance Act, 1991

106. Which organization of the United Nations has
child welfare as primary goal?

a) UNESCO
b) UNICEF
) Lo

d} General Assembly

107. Under which law a minhor is incapable of entering
into contract?
a) Indian Contract Act, 1872
b) Majority Act, 1875
¢) Guardians and Ward Act, 1890

d) Contract labour (Regulatlon and Abolition)
Act, 1970
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mhibition against employment of children
L= yearsofage hasbeen provided-

8 fundamental right against exploitation in
onstitution

3 right to equality

a directive principal of state policy

@ duty on the parents and guardians

many fundamental rights have been
d underthe Constitution af India?

b) 6 ; )
d) 8

35U v. State of West Bengal deals with —
=zuards for arrested person:s

sguards against sexual exploitation
=zuards for children

ards for unorganized workers
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SECTION -IV

ANALYTICAL ABILITIES
Questions: 111-124 121. Fill in the blank: DBF, DEF2, DE2F2 -,
Direction: Find out the missing number/ D2E2F3 ;
alphabet/series. a)  D2E2F2 b)  D2E3F3
¢) DEF3 @) - DE3F3
111. 6,11,21,36,56, ___ 122. Fill in the blank: GH, JL, NQ, SW, YD, ;
a) 66 b) 70 ) Bl b FI
c) 81 d) 85 c) EL d) FL
112, 3, 7,45731, 63 2% 123. How is 6/8 expressed as a percentage?
a) 90 b) 115 a) 0.75% b) 75%
c) 127 d) 132 c) 7.5% d) 48%
13- Z N TN, 124, What is the missing number in the series, 7, 15,
a)?E b) F B0 138 a0 D
) G d) H a) 64 b) 67
1 c) 35 d) 45
114. |I¥YD, VG, OSI, RPM, _ .
a) -AsSQ b) UMP Questions: 125-129
c) UNQ d) T™MQ Direction: The relation between the first two

Bi5. AOP, CQOR, EST, GUV,
a) Iyz b} HWX

c) WX d) JWX

Ee. 1201, . 4B

a) 40 b} .33
c) 38 d) 45
B 6,7,58,4,9,
a) 11 b) 10
E) 2 dy 3

In the following question one term in the
mmber series is wrong. Find out the wrong
b 14, 26, 48, 98, 194, 386
14 b) 48

98 d) 194

ertain code CHANDIGARH is writien
"DNAHCHRAGI. How is SIKKIM
Wmtten in 'that code?

I TIKIKM b)
. MIKKIS d)

TILLIN
KISMIK

e the following series: ASQR,
)T LALIQV
b) A2QV2

d) A2Q3U

125;

126.

427

328.

words is given, from the options find a word
which bears a similar relation with the third
word.

Air: Atmosphere: : Water: ?
a) lIsland b} Earth
¢) Ocean d) Drop

Entrance: Exit. Loyalty: ?
a) Falsehood b) Dishonesty
c) Truth d) Treachery

Intimate: Unfamiliar: : Interested: ?

a) Friendly b) Indifferent
c) Cautious d} Hostile
Coffee: Caffeine : Tobacco: ?
a) Tannin h) Novacain
c) Alexin d) Nicotine
. Horse: Stable : : Dog: ?

a) Kennel b) Barn

c) Den d) Street

. In certain code, FAN is written as 21, 26, 13 then

DEAD will be written as
a) 23, 26,22,23
b) 22, 23, 26, 22
c) 23,226 26,23
M) O3 5 22
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134

. €) Son

132,

133

134,

135.

136,

37,

Gopal said, pointing to Govind “ His father
is my father's only son”. How is Gopal

related to Govind?
a) Grandfather b) Grandson

d) Father

From the given alternatives, select the
word which cannot be formed using the
letters of the given word. 'EXAMINATION'
a) ANIMATION b) ANIMAL

¢) EXAM d) NATION

From the given alternatives select the word
which can be formed using the letters of the
given word. 'CORRESPONDING'

a) CORRECT b) DISCERN

c) REPENT d) RESPONSE

If you can write COLLEGE as DPMMFHE,
how can you write SCHOOL?

a) TDIPPM b) DITPMP

c) RBGNNK d) CLASS

K'is L's wife's hushand's brother. M is the
sister of K. N is the sister of L. How is K

related to Mm?
a) Sister-in Law b) Brother
¢) Daughter

d) Wife

6 students A, B, C, D, E and F are sitting. A
and B are from Mumbai, rest are from Delhi.
DandF aretall but others are short. A, Cand
D are girls, others are boys. Which is the tall
girlfrom Delhi?

a) F b) D

¢} E dy €

Pramesh is heavier than Jairam but lighter
than Gulab. Anand is heavier than Gulab.
Mohan is lighter than Jairam. Who among
themis the heaviest?
a) Jairam
¢} Anand

b) Gulab
d) Pramesh

. I day before yesterday was Tuesdéy, the

day after tomorrow will be
@) Monday b) Wednesday
€} Friday d) Saturday

139,

140.

141.

142,

143.

144

145.

c) 18

When Rajeev was born, his father was 3?2
years older than his brother and his mother
was 25 years older than his sister. If Rajeev's
brother is 6 years older than Rajeev and his
mother is 3 years younger than his father, how
old was Rajeev's sister when Rajeev was
born?

a) 15years b)
c) 17 years d)

7 years
10 years

A long rope has to be cut to make 23 small
pieces. If it is double folded to start with how
many iimes does it need to be cut?
ay 9 by 23
gl 1] iy B2

A pole has been affixed in a riverbed. One-half
of the pole is buried in the riverbed. One-third
ofitis covered by water. 8 feet of it projects out
ofthe water.

What is the total length of the poleinfeet?
a) 48 bl 13
d)12

The HCF and the LCM of two numbers are equal.
What can be said about the numbers?

a} They are prime

b) They are Co-primes but not primes

¢} They are equal

d)  None of these

If the ratio of the areas of two squares is
25:36, then the ratio of their perimeters is -

a) 56
b 2536
e
d) 36:25

In a factory , the production of scooters rose to
48,400 from 40,000 in 2 years. The rate of
growth per annum is :

10%
8%

a) ~ 20% b)
c) - 30% d)

The largest 4 digit number exactly divisible by
88 is

a) 9984 b) 9944
c) 9848 d) 8888

https://exams.freshersnow.com/



Questions: 146-150

Direction: Answer the questlons based on
the following information.

Five adults A, B, C, D and E are sitting in a
provision store. In this group, there is one
Manager, one Accountant, one- Supplier of
provisions. The Accountant, who has a ch'ild,

~ earns least money. A, who is married to C's

sister, earns more than the Manager. D is an
unmarried lady and does not do any work.
There is one married couple in the group of
which Bis the husband. E is the brother of C and
is neither a Supplier nor an Accountant No lady
is a Supplier or Manager. C is neither a Suppher
noranAccountant.

146. Who is Accountanf?

147.

Al b) B
e d) D

Who is Supplier?
a) A b)
c)iC d) D

[v=]

148. Who is the wife of B?

a) A b) B
cl.. & d} D
149. Who is earning the highest?
a) A b) B
c) C d) D

150. Who is the sister of C?
a) A b) B
e} d) D



